2150

1200
60 1060 80
81.5 13@69=897 . 81.5
; o[ll; 90 q
A i R
,—\\< x_
= S|
[o=: ke
HiNIBIn MEAEHEE
ol 81 8 Il@ :H
O N ™M @ oo
2 — | —
I THEEEE M
=3 b
= o 1 HHHHHH HHHH :HH? o
ik
\ - 6L
(@)
B Val
'\(j ~
[ — (@]
O
(@]
0550
FEN 1/20
RANE. £FE 0B
> BBOKE S HEEIRTT,

270

8 || [l

— Il

|

50

Iq

© 8 B

[
LU T
O&EEN (178
73.2

50

270

b
1B | EIL

NN (178

— (Y

- EREHER (178

AB#H

187752 (ETW50HC)

12 yyy7-5MELC (LCD Bk

H18

00

B 1200 (KB

KFTH03908

@,

600

< &

L ERY

U Ul Y NSNS o rotru | B O R O R U R

(%) (3
( BFBE (1716

BE i B B (mm) it 1 i Z

1 R A K 0100x50xt3.2 STKR400 HERRER (Phifsh o &)
2 2 M " ] "

3 MERR 050x 26xt1.6 STKM11AES v

4 MR 050x26xt1.6 " "

5 1 B t1.6 SGH "

6 B® e 030x20xt1.2 ABOB3S-TS R tES KR+ — M it
7 APIVE t4.5. 920 SPHC HERRER (Pihi@fhn-> &)
8 k v 9 t6. 920 " v

9 kv Ik i $12 - BREHD > &

10 ey 4x 20 ATYVA -

" B £ 12 &3l

12 174 k28 t3.2 SGMH40048% HENKZE (FhERdH- &)
13 A74 FRUEE t4.5 u u

14 ~NABEWY L M10x75 4.618% BREsED o &

15 " M8x 100 " "

16 ] M8x 70 /] ]

17 ] M8x 45 /] ]

18 u M8x 40 ] ]

19 ] M8x 20 /] ]

20 b3 229 M6x 40 ATYLVA -

21 F4%Y7L -} t3.2 SGH HERBRER (REshn - &)
22 v)vy-it LCyy-X - v 48

23 PR LaP t1.0 SGH SWERE (THEHY - &)
24| FyrATU—1 11.0. 16.0 ' '

25| #y2AAR-%- 1.6 ] :

26 T 2.3 ) )

27 7L -+ GHID t3.0 RYT-F2- b -

28 STV (B u u -

29 SEAIEE KIS t1.6 SGH HERBER (Pihishs o &)
30| E7RA AYTyYe- M5x 19 ATYVA

OD) BRAREHROLY. TEHR<EET B EABVES,

BiEFHE: vy -5l BpFREnVET,
y)y -5 (v74528) LC(LCD yU-X&CHALSLT O,
(Ky 7ty F64mm. EES0mm)
EEOBAE. BRI -v VY F-% TBAETO,




